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HISTORY
( Major )

Paper : 6.2
[ History of Assam (1826-1947) ]

Full Marks : 60
Time : 3 hours

The figures in the margin indicate full marks
Jfor the questions

Answer either in English or in Assamese

1. Answer the following questions in 1 word or
in 1 sentence : 1x7=7

OIS Al 2PIaRT ©el @Bt *w 7 9B IS foye

(@) Who was Matibar Barsenapati?
AT /TS o1 wife 2

(b) What was the date of annexation of
Cachar by the British?
fftwie wRme Tram = TR wie w1)
SIfR=CET & e o

(c) Why did the British dethrone the Ahom
King Purandar Singha in 1838?

Svror 58 Ifowia SR @ R B
Fiermpre F99 FEad & oifRe 2
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(e)

17

(9)

(b)
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(2)

(d Who was Eyang Goomendao alias

Gadadhar Singha?

IR wrATele SAF TER ke @ e 2

What were the names of the two tea
gardens of Maniram Dewan?

TR e BTz A9 g A R e 2

What were the existing classiﬁcatiops
of land during the period of Chief
Commissioner William Ward?

Ve <Rio SAeE™ GG TS SFFE TGS
FReremezn! & e ?

Name an industry of Assam which grew
as an offshoot of the tea industry.

m{wmmwtﬁww&ﬂﬁﬁmsﬁ
R o= o

held in May 1826 between the British
and the 16 Singpho Chiefs.

SR TR e Bty S sven foce IRAEN
TS (11 P 451 CafEy forin |

When was the Assam Oil Company
formed and where was its headquarter
located?

W (T @R @R s e S &R
241 I TS TS ?

( Continued )

2. Answer briefly the following questions :  2x4=8
O APTYRY T vYE o
(@) Mention two features of the agreements

4

(c)

(d)

3. Answer in brief (any three) :

(3)

Name two Assamese of the 19th century
who were proponents of widow remarriage.

R e ofe e SRR
s *STR om wo@aR wm fore |

Write any two impacts of the expansion

of tea industry on socio-economic life of
the people of Assam.

B2 STUR oA SPTE WI-IfE Gl
CoeETal R GTea 751 erer Sray <64 |

oy Tet ot (R e Rofo1) -

(a)

(b)

(c)

(d)
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What was Mill’s Report?
e Refb & enfee 2

Write about the growth of timber trade in
Assam during the Colonial period.

BT i 02 IFR Fee NS FII
T IR o <R SfRe, o

Write a note on Orunodoi.
e e «oft e fom o
Why did the Nagas kill G. H. Damant the

political officer of Naga Hills?

9N AR “feifbcee SR Rore TR 10
G. H. Damant-3 J95¢a 37 zoy 3R 2

( Turn Over )

5x3=15




(2) (13¥)

(d) After which war did the Revolution of
1905 occur in Russia?

S»oe 5 %5 K@z WL qae [z 9oz ?

(d) Why was the League of Nations formed
in 19207

S50 Tifened [Fy sfom w41 Ca3fe 2

(e) Whose murder resulted in the First

T s 3. Write short notes on (any three) : 5x3=15
ar’ | ¥
TR TOIed weEE gl A99 fgE TRebe 5 (et fora (R caoreenn o) -
tafee 9 (a) Relation between the Church and State
V i in France
¥ IS? Whé(-::h Segpashglsay of Vorsstles 0! (e A W M Aere g
gned:
L m——_C S (b) The Briand-Kellogg Pact
3 JRG-(CEnl pfe
(g9 Who arties to the Rome-
Berlinj?l‘?:yotiiis% (c) The Treaty of Trianon
AE-ARa-Gifee  «gfbee @W  FH BT
Qo <fafee 2 _ (d) Fascism
CEBHT
- Answer the following in brief : i (e) Adolf Hitler
oS TR bt Saq fi - qereE 2ee
(@) Who
3 was Alfred Dreyfus? 4. Answer any three of the following : 10x3=30
& @@ @ wifRE ? weto fraeaes R e foRtm Tug fiyg
b) W the ‘War
(b) Sc}z‘; d;_) You’understand by (a) What were the problems confronting the
of 187572 Third French Republic and how did it
TE F T swae’ e R @ ? solve them?
(c) Who was Mustafa Kemal? - R T 3T 29 =
A wWE R OTEIPNR e 49 I
WF I F w1fRe 2 =ffee
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(4)

(b) Assess the success of Bismarck domestic
policy.

Ryt spRAifs feamme siws tafes 2

() Discuss the causes of the Russian
1 Revolution of 1917.

55597 6 [T FRPTIR SACA0A1 1 |

}. (d) Why did Italy join the Austro-German
; Alliance of 1879? Why did she leave it
in 1915?

Srasd pies e fiftes 2 s»de® o o
3 pfe oyl Sfifee 2

(e) Discuss the principles of the Versailles
Treaty.

1612 pe Moz e 41 |

(/). To what extent were the Western
democracies responsible for the Second

World War?
AT e By TyEe A AR
oI 9
* Kk
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